Individual Meet Results - Standard: AB1920

Team Photos with Santa 2019 07-Dec-19 SC Meters Location: Brookfield Residential YMCA at Seton

Time	F/P/S	Event	Place	Points	Improv
Nina Bernhardt	(8) F				
2:19.23\$	F # 1A	Female 8 & Under 100 Free	8		4.76
1:02.46S	F # 5A	Female 8 & Under 50 Back	15		5.77
35.49S DQ	F # 6A	Female 8 & Under 25 Breast			
1:02.86S	F # 12A	Female 8 & Under 50 Free	4		7.95
Kassie Burton (9) F				
1:00.388	F # 2C	Female 9-9 50 Fly	5		-4.60
49.598	F # 5C	Female 9-9 50 Back	1		-1.22
58.57S	F # 9C	Female 9-9 50 Breast	1		-0.57
Keira Diakiw (7) F				
2:20.47\$	F # 1A	Female 8 & Under 100 Free	10		-7.20
1:10.21S	F # 5A	Female 8 & Under 50 Back	20		-0.21
39.05S	F # 6A	Female 8 & Under 25 Breast	3		
1:05.638	F # 12A	Female 8 & Under 50 Free	6		1.66
Slade Diakiw (1	.0) M				
NS	F # 2F	Male 10-10 50 Fly			
NS	F # 7F	Male 10-10 100 IM			
NS	F # 10F	Male 10-10 25 Fly			
Claire Finlayson	(9) F				
1:56.24\$	F # 1C	Female 9-9 100 Free	3		-2.67
2:44.00S	F # 3C	Female 9-9 100 Breast	8		
57.75S	F # 5C	Female 9-9 50 Back	2		3.91
55.57S	F # 12C	Female 9-9 50 Free	5		6.79
Zoe Gagne (9) I	7				
1:58.658	F # 1C	Female 9-9 100 Free	5		-6.17
1:00.35S	F # 5C	Female 9-9 50 Back	6		-0.25
32.98S	F # 6C	Female 9-9 25 Breast	1		
53.56S	F # 12C	Female 9-9 50 Free	4		-0.28
Dane Gardner (7) M				
2:24.64S	F # 1B	Male 8 & Under 100 Free	13		-14.87
1:05.48S	F # 5B	Male 8 & Under 50 Back	13		-4.44
29.28S	F # 8B	Male 8 & Under 25 Free	1		1.34
1:09.46S	F # 12B	Male 8 & Under 50 Free	12		4.69
Declan Harrison	ı (9) M				
1:40.65S	F # 1D	Male 9-9 100 Free	1		3.81
48.03S	F # 5D	Male 9-9 50 Back	4		-0.79
2:07.72S	F # 7D	Male 9-9 100 IM	8		
1:11.63S	F # 9D	Male 9-9 50 Breast	1		8.27

Individual Meet Results - Standard: AB1920

Team Photos with Santa 2019 07-Dec-19 SC Meters Location: Brookfield Residential YMCA at Seton

Time	F/P/S	Event	Place	Points	Improv
Gianna Hnidey	(10) F				
2:05.08S	F # 1E	Female 10-10 100 Free	5		-0.75
1:01.23S	F # 5E	Female 10-10 50 Back	5		0.86
34.62S	F # 6E	Female 10-10 25 Breast	2		
57.47S	F # 12E	Female 10-10 50 Free	3		2.30
Cora Hunter (1:	1) F				
39.518	F # 2G	Female 11-11 50 Fly	1		-1.63
40.60S	F # 5G	Female 11-11 50 Back	1		-0.53
35.65S	F # 12G	Female 11-11 50 Free	1		1.10
Leah Hunter (9) F				
1:44.64S	F # 1C	Female 9-9 100 Free	1		-0.51
2:15.64\$	F # 3C	Female 9-9 100 Breast	3		-15.08
2:06.74\$	F # 7C	Female 9-9 100 IM	4		
28.98S	F # 10C	Female 9-9 25 Fly	1		-5.01
		•			
Brynna Hurd (8 2:19.37S	F # 1A	Female 8 & Under 100 Free	9		-7.24
1:03.65S	F # 5A	Female 8 & Under 50 Back	16		-6.33
48.88S	F # 6A	Female 8 & Under 25 Breast	7		-0.33
1:04.90S	F # 12A	Female 8 & Under 50 Free	5		-4.55
		remaie o & onder 50 free	3		-4.55
Gibson Hurd (1	-		_		
1:38.87\$	F # 1F	Male 10-10 100 Free	2		2.62
47.94S	F # 5F	Male 10-10 50 Back	2		0.95
2:01.11S	F # 7F	Male 10-10 100 IM	1		-5.69
44.24S	F # 12F	Male 10-10 50 Free	1		3.09
Katelyn James ((9) F				
58.33S	F # 2C	Female 9-9 50 Fly	4		-12.72
2:12.60S	F # 3C	Female 9-9 100 Breast	2		6.07
46.22S	F # 12C	Female 9-9 50 Free	2		-1.54
Charlotte Johns	ton (10) F				
51.818	F # 2E	Female 10-10 50 Fly	3		-7.87
1:40.79S FE	S F # 7E	Female 10-10 100 IM	3		-2.72
1:38.30S FE	S F # 11E	Female 10-10 100 Back	2		3.16
Camryn Jones (11) F				
NS	F # 3G	Female 11-11 100 Breast			
NS	F # 7G	Female 11-11 100 IM			
NS	F # 9G	Female 11-11 50 Breast			
Peyton Jones (9)) F				
53.958	F # 2C	Female 9-9 50 Fly	3		7.86
1:53.06S	F # 7C	Female 9-9 100 IM	3		9.11
1:55.63S	F # 11C	Female 9-9 100 Back	3		5.09

Individual Meet Results - Standard: AB1920

Team Photos with Santa 2019 07-Dec-19 SC Meters Location: Brookfield Residential YMCA at Seton

Time	F/P/S	Event	Place	Points	Improv
Peyton Klinck (9	9) F				
1:58.98S	F # 1C	Female 9-9 100 Free	6		-2.29
2:22.40S	F # 3C	Female 9-9 100 Breast	4		
1:05.65S	F # 5C	Female 9-9 50 Back	11		6.31
33.90S	F # 10C	Female 9-9 25 Fly	2		-1.95
Rylan Kohlruss	(9) M				
1:59.91S	F # 1D	Male 9-9 100 Free	3		0.38
59.11S	F # 5D	Male 9-9 50 Back	14		0.29
31.07S	F # 6D	Male 9-9 25 Breast	1		
50.15S	F # 12D	Male 9-9 50 Free	2		-1.49
Katherine Kohn	(9) F				
50.318	F # 2C	Female 9-9 50 Fly	1		1.92
1:46.85S FES		Female 9-9 100 IM	2		6.21
1:44.50S FES		Female 9-9 100 Back	1		5.18
Ethan Lake (10)					
19.12S	F # 4F	Male 10-10 25 Back	1		-11.64
41.63S FES		Male 10-10 50 Back	1		0.47
1:29.93S FES		Male 10-10 100 Back	1		0.67
		1410 TO TO TO DUCK	-		0.07
Clayton Lindenb		Male 11-11 25 Back			
19.30S DQ	F # 4H				
39.06S FES 1:28.66S FES		Male 11-11 50 Back	1		-0.34
		Male 11-11 100 IM	1		1.81
17.56S	F # 10H	Male 11-11 25 Fly	2		-12.91
Mychael Lindenl					
37.62S FES		Male 11-11 50 Fly	1		0.04
21.12S	F # 6H	Male 11-11 25 Breast	1		-2.89
46.18S FES		Male 11-11 50 Breast	1		0.36
17.47S	F # 10H	Male 11-11 25 Fly	1		-3.00
Alyssa Linton (8) F				
2:22.64S	F # 1A	Female 8 & Under 100 Free	11		4.74
1:05.97S	F # 5A	Female 8 & Under 50 Back	19		2.21
48.99S DQ	F # 6A	Female 8 & Under 25 Breast			
1:10.37S	F # 12A	Female 8 & Under 50 Free	11		7.74
Lauren Livingsto	one (11) F				
1:30.04S	F # 1G	Female 11-11 100 Free	1		-0.98
1:49.41S	F # 7G	Female 11-11 100 IM	2		4.29
48.85S	F # 9G	Female 11-11 50 Breast	1		0.58
Madison Meikle	(10) F				
1:44.78S	F # 1E	Female 10-10 100 Free	1		-3.56
2:17.56S	F # 3E	Female 10-10 100 Breast	4		-15.79
2:08.12S	F # 7E	Female 10-10 100 IM	6		
47.61S	F # 12E	Female 10-10 50 Free	2		0.99

Individual Meet Results - Standard: AB1920

Team Photos with Santa 2019 07-Dec-19 SC Meters Location: Brookfield Residential YMCA at Seton

Dide Melton (10) N	Time	F/P/S	Event	Place	Points	Improv	
14.487S	Jude Melton (10) M					
	1:44.87S	F # 1F	Male 10-10 100 Free	3		-3.90	
1-03.105	51.92S	F # 5F	Male 10-10 50 Back	3		3.44	
Amelia Myles (8) F # 1 A Female 8 & Under 100 Free 17 148 1:14.26 F # 5.0 Female 8 & Under 50 Back 27 1:09.65S F # 6.0 Female 8 & Under 50 Free 9 Gavinatif (10) M 1:15.06.0S F # 1.7 Male 10-10 100 Free 2 <	2:17.22S	F # 7F	Male 10-10 100 IM	5			
1.42 1.42	1:03.10S	F # 9F	Male 10-10 50 Breast	1		-5.86	
1.42 1.42	Amelia Myles (8) F					
San		-	Female 8 & Under 100 Free	17		1.48	
1:09.655	1:14.26S	F # 5A	Female 8 & Under 50 Back	27		-2.38	
Casin Pacitit (10) Male 1-10 100 Free 15	35.34S DQ	F # 6A	Female 8 & Under 25 Breast				
1:50.60S	1:09.65S	F # 12A	Female 8 & Under 50 Free	9		9.12	
1:50.60S	Gavin Pacitti (10)) M					
2:40.45S F # 3F Male 10-10 100 Breast 4			Male 10-10 100 Free	5		1.89	
Mirko Petrovic (9) M		F # 3F	Male 10-10 100 Breast	4		-1.23	
Mirko Petrovic (9) M 2:20.22S	59.34S	F # 5F	Male 10-10 50 Back	8		5.75	
2:20.22S F # 1D Male 9-9 100 Free 10 -4.30 1:05.38S F # 5D Male 9-9 25 Breast 19 -2.23 38.04S F # 6D Male 9-9 25 Breast 2 1:00.67S F # 1D Male 9-9 25 Breast 2 0.64 Emma Pillay (7) F E : 100.67S F # 1D Female 8 & Under 100 Free 13 12.49 1:11.95S F # 1A Female 8 & Under 25 Breast 1 1.00 33.59S F # 1A Female 8 & Under 25 Breast 1 4.87 1:09.46S F # 12A Female 8 & Under 50 Free 8 4.87 Listm Pillay (10) M 1:33.75S F # 1F Male 10-10 100 Free 1 0.26 1:51.33S F # 3F Male 10-10 100 Free 1 0.96 1:97.6S F # 17 Male 10-10 25 Fly 1 0.70 <td colspan<="" td=""><td>45.54S</td><td>F # 12F</td><td>Male 10-10 50 Free</td><td>2</td><td></td><td>-1.58</td></td>	<td>45.54S</td> <td>F # 12F</td> <td>Male 10-10 50 Free</td> <td>2</td> <td></td> <td>-1.58</td>	45.54S	F # 12F	Male 10-10 50 Free	2		-1.58
2:20.22S F # 1D Male 9-9 100 Free 10 -4.30 1:05.38S F # 5D Male 9-9 25 Breast 19 -2.23 38.04S F # 6D Male 9-9 25 Breast 2 1:00.67S F # 1D Male 9-9 25 Breast 2 0.64 Emma Pillay (7) F E : 100.67S F # 1D Female 8 & Under 100 Free 13 12.49 1:11.95S F # 1A Female 8 & Under 25 Breast 1 1.00 33.59S F # 1A Female 8 & Under 25 Breast 1 4.87 1:09.46S F # 12A Female 8 & Under 50 Free 8 4.87 Listm Pillay (10) M 1:33.75S F # 1F Male 10-10 100 Free 1 0.26 1:51.33S F # 3F Male 10-10 100 Free 1 0.96 1:97.6S F # 17 Male 10-10 25 Fly 1 0.70 <td colspan<="" td=""><td>Mirko Petrovic (</td><td>9) M</td><td></td><td></td><td></td><td></td></td>	<td>Mirko Petrovic (</td> <td>9) M</td> <td></td> <td></td> <td></td> <td></td>	Mirko Petrovic (9) M				
1:05.38S F # 5D Male 9-9 50 Back 19 -2.23 38.04S F # 6D Male 9-9 25 Breast 2 1:00.67S F # 12D Male 9-9 50 Free 4 .0.64 Emma Pillay (7) F 2:28.03S F # 1A Female 8 & Under 100 Free 13 12.49 1:11.95S F # 5A Female 8 & Under 25 Breast 1 1.00 33.59S F # 1A Female 8 & Under 25 Breast 1 4.87 1:09.46S F # 12A Female 8 & Under 50 Free 1 4.87 Li33.75S F # 15F Male 10-10 100 Free 1 0.26 1:51.33S FES F # 15F Male 10-10 100 Breast 1 0.708 1:29.76S F # 15F Male 10-10 105 Free 19 -7.08 TS Podesky (7) F 2:47.48S F # 15A Female 8 & Under 50 Back 28 2.63 43.13S F # 5A Female 8 & Under 50 Free <td< td=""><td></td><td></td><td>Male 9-9 100 Free</td><td>10</td><td></td><td>-4.30</td></td<>			Male 9-9 100 Free	10		-4.30	
38.04S F # 6D Male 9-9 25 Breast 2 0.64 1:00.67S F # 12D Male 9-9 50 Free 4 0.64 Emma Pillay (7) F 2:28.03S F # 1A Female 8 & Under 100 Free 13 12.49 1:11.95S F # 5A Female 8 & Under 50 Back 23 1.00 33.59S F # 6A Female 8 & Under 25 Breast 1 1:09.46S F # 12A Female 8 & Under 50 Free 8 1:09.46S F # 12A Female 8 & Under 50 Free 8 1:09.46S F # 15 Male 10-10 100 Free 1							
1:00.67S							
2:28.03S F # 1A Female 8 & Under 100 Free 13 -12.49 1:11.95S F # 5A Female 8 & Under 50 Back 23 1.00 33.59S F # 6A Female 8 & Under 25 Breast 1 1:09.46S F # 12A Female 8 & Under 50 Free 8 4.87 Liam Pillay (10) M 1:33.75S F # 1F Male 10-10 100 Free 1 0.26 1:51.33S FES F # 3F Male 10-10 100 Breast 1 0.96 19.76S F # 10F Male 10-10 25 Fly 1 -0.96 19.76S F # 10F Male 10-10 25 Fly 1 -7.08 Tia Podesky (7) F # 10F Male 10-10 25 Fly 1 9 -18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 -2.63 43.13S F			Male 9-9 50 Free			0.64	
2:28.03S F # 1A Female 8 & Under 100 Free 13 -12.49 1:11.95S F # 5A Female 8 & Under 50 Back 23 1.00 33.59S F # 6A Female 8 & Under 25 Breast 1 1:09.46S F # 12A Female 8 & Under 50 Free 8 4.87 Liam Pillay (10) M 1:33.75S F # 1F Male 10-10 100 Free 1 0.26 1:51.33S FES F # 3F Male 10-10 100 Breast 1 0.96 19.76S F # 10F Male 10-10 25 Fly 1 -0.96 19.76S F # 10F Male 10-10 25 Fly 1 -7.08 Tia Podesky (7) F 2.247.48S F # 1A Female 8 & Under 100 Free 19 -18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 -8.34 43.13S F # 6A Female 8 & Under 50 Free 16 4.93 Gherman Rekshta (9) W -5.88 1:10.95S	Emma Pillay (7)	F					
33.59S F # 6A Female 8 & Under 25 Breast 1 1 1 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.87 1 4.26 1 4.26 1 4 <td< td=""><td></td><td></td><td>Female 8 & Under 100 Free</td><td>13</td><td></td><td>-12.49</td></td<>			Female 8 & Under 100 Free	13		-12.49	
1:09.46S F # 12A Female 8 & Under 50 Free 8 4.87 Liam Pillay (10) M 1:33.75S F # 1 F Male 10-10 100 Free 1 0.26 1:51.33S FES F # 3F Male 10-10 100 Breast 1 -0.96 19.76S F # 10F Male 10-10 25 Fly 1 -7.08 Tia Podesky (7) F 2:47.48S F # 1 A Female 8 & Under 100 Free 19 -18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 2.63 43.13S F # 6A Female 8 & Under 50 Free 16 4.93 Gherman Rekshta (9) X # 1 D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 50 Free 1 1.	1:11.958	F # 5A	Female 8 & Under 50 Back	23		1.00	
Liam Pillay (10) M 1:33.75S F # 1F Male 10-10 100 Free 1 0.26 1:51.33S FES F # 3F Male 10-10 100 Breast 1 0.96 1 9.76S F # 10F Male 10-10 25 Fly 1 0.708 Tia Podesky (7) F 2:47.48S F # 1A Female 8 & Under 100 Free 19 -18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 2.63 43.13S F # 5A Female 8 & Under 50 Free 16 4.93 Cherman Rekshta (9) E # 12A Female 8 & Under 50 Free 16 4.93 2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1 1.58	33.59S	F # 6A	Female 8 & Under 25 Breast	1			
1:33.75S F # 1 F Male 10-10 100 Free 1 0.26 1:51.33S FES F # 3 F Male 10-10 100 Breast 1 -0.96 19.76S F # 10F Male 10-10 25 Fly 1 -7.08 Tia Podesky (7) F 2:47.48S F # 1 A Female 8 & Under 100 Free 19 -18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 2.63 43.13S F # 6A Female 8 & Under 25 Breast 6 4.93 Gherman Rekshta (9) W 2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.58 24.27S F # 8D Male 9-9 57 Free 1 1.58	1:09.46S	F # 12A	Female 8 & Under 50 Free	8		4.87	
1:33.75S F # 1 F Male 10-10 100 Free 1 0.26 1:51.33S FES F # 3F Male 10-10 100 Breast 1 -0.96 19.76S F # 10F Male 10-10 25 Fly 1 -7.08 Tia Podesky (7) F 2:47.48S F # 1A Female 8 & Under 100 Free 19 -18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 2.63 43.13S F # 6A Female 8 & Under 25 Breast 6 4.93 Gherman Rekshta (9) W 2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.58 24.27S F # 8D Male 9-9 25 Free 1 1.58	Liam Pillay (10)	M					
19.76S F # 10F Male 10-10 25 Fly 1 0.8 Tia Podesky (7) F 2:47.48S F # 1A Female 8 & Under 100 Free 19 18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 2.63 43.13S F # 6A Female 8 & Under 25 Breast 6 4.93 1:20.89S F # 12A Female 8 & Under 50 Free 16 4.93 Gherman Rekshta (9) M 2:06.83S F # 1D Male 9-9 100 Free 4 5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58			Male 10-10 100 Free	1		0.26	
Tia Podesky (7) F 2:47.48S F # 1A Female 8 & Under 100 Free 19 -18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 2.63 43.13S F # 6A Female 8 & Under 25 Breast 6 4.93 1:20.89S F # 12A Female 8 & Under 50 Free 16 4.93 Gherman Rekshta (9) M 2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58	1:51.33S FES	F # 3F	Male 10-10 100 Breast	1		-0.96	
2:47.48S F # 1A Female 8 & Under 100 Free 19 -18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 2.63 43.13S F # 6A Female 8 & Under 25 Breast 6 1:20.89S F # 12A Female 8 & Under 50 Free 16 4.93 Gherman Rekshta (9) M 2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58	19.76S	F # 10F	Male 10-10 25 Fly	1		-7.08	
2:47.48S F # 1A Female 8 & Under 100 Free 19 -18.34 1:17.07S F # 5A Female 8 & Under 50 Back 28 2.63 43.13S F # 6A Female 8 & Under 25 Breast 6 1:20.89S F # 12A Female 8 & Under 50 Free 16 4.93 Gherman Rekshta (9) M 2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58	Tia Podesky (7)	F					
1:17.07S F # 5A Female 8 & Under 50 Back 28 2.63 43.13S F # 6A Female 8 & Under 25 Breast 6 4.93 Gherman Rekshta (9) M 2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58			Female 8 & Under 100 Free	19		-18.34	
1:20.89S F # 12A Female 8 & Under 50 Free 16 4.93 Gherman Rekshta (9) M 2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58		F # 5A	Female 8 & Under 50 Back	28		2.63	
1:20.89S F # 12A Female 8 & Under 50 Free 16 4.93 Gherman Rekshta (9) M 2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58			Female 8 & Under 25 Breast	6			
2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58			Female 8 & Under 50 Free			4.93	
2:06.83S F # 1D Male 9-9 100 Free 4 -5.88 1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58	Gherman Rekshi	ta (9) M					
1:10.95S F # 5D Male 9-9 50 Back 23 1.92 24.27S F # 8D Male 9-9 25 Free 1 1.58			Male 9-9 100 Free	4		-5.88	
24.27S F # 8D Male 9-9 25 Free 1 .58							
	2:37.61S	F # 11D		5			

Individual Meet Results - Standard: AB1920

Team Photos with Santa 2019 07-Dec-19 SC Meters Location: Brookfield Residential YMCA at Seton

Time	F/P/S	Event	Place	Points	Improv
Grace Riley (10)) F				
1:57.81S	F # 1E	Female 10-10 100 Free	4		-1.67
2:05.98S	F # 3E	Female 10-10 100 Breast	2		4.37
1:03.06S	F # 5E	Female 10-10 50 Back	6		4.13
57.52S	F # 9E	Female 10-10 50 Breast	3		0.34
Violet Rockley	(9) F				
2:31.18S	F # 1C	Female 9-9 100 Free	9		3.68
1:10.10S	F # 5C	Female 9-9 50 Back	13		3.07
1:06.498	F # 6C	Female 9-9 25 Breast	3		
1:06.448	F # 12C	Female 9-9 50 Free	7		0.76
Cole Ronning (9) M				
1:46.63S	F # 1D	Male 9-9 100 Free	2		7.74
52.46S	F # 5D	Male 9-9 50 Back	10		2.05
2:00.78S	F # 7D	Male 9-9 100 IM	4		-15.36
46.81S	F # 12D	Male 9-9 50 Free	1		4.31
Kierra Sikora (11) F				
53.31S	F # 2G	Female 11-11 50 Fly	3		0.65
1:56.07S	F # 3G	Female 11-11 100 Breast	2		-1.87
1:42.67S	F # 7G	Female 11-11 100 IM	1		-5.26
Lily Sikora (9)	F				
2:22.65S	F # 3C	Female 9-9 100 Breast	5		
59.68S	F # 5C	Female 9-9 50 Back	4		1.53
2:19.998	F # 7C	Female 9-9 100 IM	5		
34.56S	F # 10C	Female 9-9 25 Fly	3		1.42
Hailey Thiele (10) F				
40.48S FE	-	Female 10-10 50 Fly	1		0.91
20.47\$	F # 4E	Female 10-10 25 Back	1		-14.06
1:36.13S FE		Female 10-10 100 IM	1		5.58
1:30.37S FE		Female 10-10 100 Back	1		0.82
Parker Van Der	Westen (8) M				
2:12.83\$	F # 1B	Male 8 & Under 100 Free	6		-1.83
1:03.87S	F # 5B	Male 8 & Under 50 Back	11		1.97
1:30.518	F # 9B	Male 8 & Under 50 Breast	1		-0.58
58.07S	F # 12B	Male 8 & Under 50 Free	3		-0.37
Chloe van Meer 2:32.67S	F # 1C	Female 9-9 100 Free	10		7.83
1:09.66S	F # 5C	Female 9-9 50 Back	12		-2.97
53.33S DO		Female 9-9 25 Breast			-2.97
1:09.86S	F # 12C				10.92
1:03.803	r # 12C	remale 9-9 50 riee	8		10.92

Individual Meet Results - Standard: AB1920

Team Photos with Santa 2019 07-Dec-19 SC Meters Location: Brookfield Residential YMCA at Seton

Time	F/P/S	Event	Place	Points	Improv
Hudsyn Watt (1	10) F				
48.67S FE	S F # 2E	Female 10-10 50 Fly	2		-3.82
1:39.29S FE	S F # 7E	Female 10-10 100 IM	2		-8.18
51.95S FE	S F # 9E	Female 10-10 50 Breast	1		-1.23
Declan West (8) M				
1:41.75S	F # 1B	Male 8 & Under 100 Free	1		-3.18
50.45S	F # 5B	Male 8 & Under 50 Back	1		0.79
33.96S	F # 6B	Male 8 & Under 25 Breast	1		
1:52.46S	F # 11B	Male 8 & Under 100 Back	1		-4.49